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SN =YD
M NSHAWLEE
SRl AIZRS A K|S (E42): )
% - (5]
S - FE - SRI(E) - HIRARY - BES il &k S HmEST
= 100,000
i 100,000
02 QIZFXH2 A 2 (01 M THE) 200,000 0 200,000
OL+0F sUsd S5 URZ2HA &4
200,000,000& 200,000
= 100,000
i 100,000
AE BHEX =4 5,000 5,000 0
402 QIZ2EXHE0(& 5,000 5,000 0
01 QIZEXH2 A S (KEXITHE) 5,000 5,000 0
O4td FHEX I 5,000,000 *2IH 2-x50% 5,000
EetolA THEHEHR] XI& 10,000 10,000 0
402 QI2EXHE0IHE 10,000 10,000 0
01 QIZEXH2 A S (KEXITHE) 10,000 10,000 0
OECtolA THEHERXI XI& 20,000, 000 *50% 10,000
AMBIEZE i ZEE sKHH AlY 16,000 16,000 0
o= 6,000
i 10,000
402 QIZ2EXHE0(HE 16,000 16,000 0
o= 6,000
i 10,000
02 QIZFRH2 A 2 (01 M THE) 16,000 16,000 0
OAlBIEE e ZEE sKHH Al
20,000,000 * 1JH2*80% 16,000
o= 6,000
i 10,000
S0 4323 Jl= MY 200,000 0 200,000
= 100,000
i 100,000
402 QIZ2EXHE0(HE 200,000 0 200,000
= 100,000
i 100,000
02 QIZFRH2 A 22 (01 M THE) 200,000 0 200,000
OS=0l &33t Iz AlY
200,000,000 *1IH2+100% 200,000
= 100,000
i 100,000
=S8 SHXH 1,315,812 702,392 613,420
= 130,550
| 18,025
o= 189,822
i 977,415
DEE Y=S5 Mt 935,212 599,392 335,820
| 18,025
< 155,572
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A SRS
Hu: PLEX SHX|S
ol DEW DASH A (Sr9): &)
% (5]
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
= 767,675
YrSx2Y 24,948 25,860 £912
201 LBr2Yy| 5,868 6,060 A1
01 ArR 22| 5,868 6,060 A1
OD4SH H2TH 7Y 60,000835+0% 360
OISR AEE 29 o 22|
600, 00023744 1,800
OsNSHWl2E USRS a4 M
55,0021 1274 4423 1,320
O staE WHl S 840 M
55,0021 1274 %18l 660
OSZHI(BHS= YPEX)
8,00021%301+724] 1,728
202 01t 6,480 7,200 AT
ENEE] 6,480 7,200 AT
OB4S= gjas 180, 0002+32 1+ 102 6,480
206 24| 10,000 10,000 0
01 28| 10,000 0,000 0
O SLHE LR 20,0002/+500% 10,000
301 LBHRFI 2,600 2,600 0
EISEEE! 2,600 2,600 0
OXSEH #MUS &4 30,00024+3021+2943] 1,800
OB4SXDS U BWIKS| &4 20,0002#402) 800
BrERTS 22,400 22,400 0
402 BIRIXHZOIH 22,400 22,400 0
01 BIRIKFZ AT 2 (RHAITH ) 22,400 22,400 0
ODBH LA HIZX) XIS
3721+1,210,81004+50% 22,400
A BE A SEAY 100,000 40,000 60,000
40 BIRIXHZ0IH 100,000 40,000 60,000
01 BIRIFZ A BE (XA 100,000 40,000 60,000
OMEYBAID S5t K™ 200,000, 0002+50% 100,000
SSRUSALEE NS (SSTS(HA) YL 15,000 0 15,000
g 6,000
= 2,700
z 6,300
402 BIRIXHZOIH 15,000 0 15,000
g 6,000
= 2,700
z 6,300
02 BRIXFZ A 2 E (01 ™M) 15,000 0 15,000
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2A:
PSER
o e

o
el

Ojl st

MU
Ofl &kl

S

M H

15,000
6,000
2,700
6,300

M H

520,000

130,000
390,000

400,000

120,000

M H

520,000

130,000
390,000

400,000

120,000

520,000,000

M H

520,000

520,000

130,000
390,000

400,000

120,000

M H

222,800

17,460
205,340

M H

222,800

17,460
205,340

12,900, 0002 *50%

8,700, 000&*50%

OtlaS DAl dAAlL Slis I3

22,200,000 *55%50%
Odte! ZIIMEH K&

21,000,000 *50%

Outaate| d=5) A=t X2
20,000,000% »13CH*50%

32,000,000 *50%

M H

M H

M H

M H

M H

M H

222,800

6,450
1,290
5,160
4,350

870
3,480

55,500
6,000
49,500
10,500
2,100
8,400

130,000
4,000
126,000
16,000
3,200
12,800

S

M H

30,064

12,025
5,412
12,627

402 BIZHXE01H

30,064
12,025
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SN SRS
M YLEX SYNL
ol DEE DLSH MAl (Srel: &)
SH - ZH - S2I(3) - KIRA - BES Ol b e HmE=
== 5,412
o 12,627
02 QIR AL 22 (01X TH ) 30,064 0 30,0064
OLt=20F ADIEE At
30,064, 0002 *241%50% 30,064
| 12,025
o= 5,412
o 12,627
DEE Y==S2 dabAlH 380,600 103,000 277,600
= 130,550
o= 34,250
o 215,800
HollE 2HEZ 2H(HH) 1,500 1,500 0
= 750
i 750
206 M= 4| 1,500 1,500 0
= 750
i 750
01 M=l 1,500 1,500 0
OgoliE 2= 2Z(bH) 300,000 & *5IH 4 1,500
= 750
i 750
s&= YollE 2Albl 67,600 14,000 53,600
= 33,800
o 33,800
206 M= 4| 67,600 14,000 53,600
= 33,800
o 33,800
01 M=l 67,600 14,000 53,600
Os%&2 dolls ZHibl 67,600,000 67,600
= 33,800
o 33,800
b= Eolls olE & 2N Al 7,500 7,500 0
< 2,250
o 5,250
202 (44| 3,600 3,000 600
o= 1,080
o 2,520
01 =LHOIYI 3,600 3,000 600
Olt==8ol=s & & L=
20,0002 *321+60 3,600
o= 1,080
o 2,520
206 M= 4| 3,900 4,500 A600
o= 1,170
o 2,730
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A sHAMEDL
Hu: PLEX SHX|S
C9l: DEX DASEH ML AY (St &)
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
01 =8l 3,900 4,500 2600
Olt==8ol=s olZ & 2Xl 1,950,000& 25 3,900
o= 1,170
i 2,730
AtDb 2t=Tts3 THEHD 1= Al” 32,000 0 32,000
o= 12,000
i 20,000
402 QI2EXHE0(HE 32,000 0 32,000
o= 12,000
i 20,000
02 QIZFRH2 A 22 (01 M THE) 32,000 0 32,000
OAFDE 2t=TtE3H D= AlY
40,000,000 * 1JHA*80% 32,000
o= 12,000
i 20,000
It et s JlsEg UK 36,000 0 36,000
= 18,000
i 18,000
405 XHAHESH| 36,000 0 36,000
= 18,000
i 18,000
01 AL = ZF =] 36,000 0 36,000
Ot Wstd= D=2z EHIKA
36,000,000& 36,000
= 18,000
i 18,000
CIXE=sY Al Itssbls Al 56,000 0 56,000
= 28,000
i 28,000
402 QI2EXHE0IHE 56,000 0 56,000
= 28,000
i 28,000
02 QIZFRH2 A 22 (01 M THE) 56,000 0 56,000
OUXNE=Y Atk Xtssls A"
56,000,000& 56,000
= 28,000
i 28,000
SEHA JIBHS 223 Alg 80,000 0 80,000
o= 20,000
i 60,000
402 QIZ2EXHE0(HE 80,000 0 80,000
o= 20,000
i 60,000
02 QIZFRH2 A 2 (01 M THE) 80,000 0 80,000
O&EHA JIBNE 2L AIY
100,000,000 * 17 2-+80% 80,000

- 79 -




SN sHBXEDL
u: PASH SN
SPl: DEN PASH ML A (E42): )
% - (5]
S - B - S9I(B) - HIRAY - BAS Ofl ke S HIDS
= 20,000
z 60,000
2523 Jle 28 AEu 4T3 Hd AlE 100,000 0 100,000
= 50,000
z 50,000
402 BIZHAt=0lA 100,000 0 100,000
= 50,000
z 50,000
02 RIZEXHEAII 2 (0IHTHE) 100,000 0 100,000
OZ&EEst Iz 2 A&l 4SEZNE
Al 100,000,000 100,000
= 50,000
z 50,000
ANEAHS] ZHHZSL 2,478,799 2,215,498 263,301
2 74,747
p) 105,772
& 225,340
z 2,072,940
USESA=YEE AEXIE 2,478,799 2,215,498 263,301
2 74,747
p) 105,772
& 225,340
z 2,072,940
oD I=X 10,120 10,120 0
201 Ler=g| 1,920 1,920 0
01 At 1,920 1,920 0
O=2HI(20XHFLR2FE)  8,000R*321+804] 1,920
202 04l 7,200 7,200 0
01 =LH04HI 7,200 7,200 0
OHMA S R+&l 200,000 *321x 122 7,200
301 L2 1,000 1,000 0
09 HAHAIEIXIES 1,000 1,000 0
OHUZ20F T & 40,0003 *521%53] 1,000
o= N2AE 497,200 195,200 302,000
402 BIZHAt=0lA 497,200 195,200 302,000
01 RIZEXHEAIS SR (XHHITHE) 497,200 195,200 302,000
OAI&otRA XHSIHEID| X
70,400,000 *50% 35,200
OAlZRIsIot &J] sl Xd
140, 0002 «600kw+50% 42,000
OZJI=H S+ Mol X2
40,000, 000%50% 20,000
O&7] AXFl = HollSLH SHAIA
200,000, 0002 *50% 100,000
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SN SRS
HE: AlLARIC] HHA2G
9l DBISASHA AT (Sl ER)
% (5]
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
ONEZ0| 282 A
200002145, 000 Z2+50% 300,000
HASHAIR T2 1,490,069 1,286,322 208,747
= 147,673
2 1,342,396
307 212+0/H 136,176 136,176 0
= 40,853
2 9,323
02 SIFBSAEBE 136, 176 136, 176 0
OMAZ (LT MAHY X7 136,176,002 136,176
= 40,853
2 95,323
400 QIZHRI=0IH 1,353,893 1,150, 146 203,747
= 106,820
2 1,247,073
02 CIRIXFE AP 2 2 (01 FTHR) 1,363,898 1,160, 146 208,747

OAIE30 AXEHB M A&

6,550, 000 & *107H A+50% 32,750

< 6,550

= 26,200

OZ)| R2F(R) X2 80,000,000& 80,000
< 16,000

= 64,000

20,000, 0002 *37H A+50% 30,000
< 6,000
= 24,000

,400, 0002 *10JH A+50% 32,000
< 6,400
= 25,600
OLUSE 2, Ot= é@&]lﬁl@/\}%
, 750,000 270 A%50% 7,750
< 1,550
= 6,200
OJ== MAAE &R X 1,168,500
ORI =otA HAAE SHet XIZ
27,880,000 250 A+50% 348,500
< 69,700
= 278,800
0ZJ] SloHI=AIE X1
40,000, 0002 *20H A+50% 400,000
0ZJ| =EBFAIE N&
24,000, 0002 %357 2-+50% 420,000
O}, Ots Mok M2old sXHH XI&
2,893,000 2,893
< 620
= 2,273




SN sHXEDL
S AZAES BHHAS!
C9l: DERSASMA ALK (St &)
% - (5]
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
SY20F OUXEZAIE KR (CHEE2HE XId) 186,867 186,867 0
2 74,747
& 33,636
z 78,484
402 BIZHAtE0lA 186,867 186,867 0
= 74,747
& 33,636
z 78,484
02 RIZEXHEAII 2 (0IHTHE) 186,867 186,867 0
OsY=20F HUXIZZAIZ XIR(22.1ha)
186,867,000 186,867
2 74,747
& 33,636
z 78,484
HOI=0k ICT =8 NE 47,543 167,602 A120,009
p) 23,772
& 7,131
z 16,640
402 BIZHAtE0lA 47,543 167,602 A120,009
p) 23,772
& 7,131
z 16,640
02 RIZEXHEAII 2 (0IHTHE) 47,543 167,602 A120,009
OJ0IZ0F ICT =& AR (142)
47,543,000 47,543
p) 23,772
& 7,131
z 16,640
S| Pd S2XE 42,000 67,000 /25,000
201 Ler=g| 22,000 27,000 A5,000
01 At 22,000 27,000 A5,000
Og8=s &Y 82 IBE N
22,000,000 %13 22,000
307 212H01H 20,000 40,000 /20,000
04 QIZISHAAIH 22 20,000 40,000 /20,000
O&tEZ)| *+=d EEXIZ 40,000,000 *50% 20,000
UFHIIEMEIAIE K& 80,000 80,000 0
p) 32,000
& 14,400
z 33,600
402 BIZtAtE0lA 80,000 80,000 0
p) 32,000
& 14,400
z 33,600
02 RIZEXHEAII 2 (0IHTHE) 80,000 80,000 0
OB MEHAIE XIE 160,000,000 *50% 80,000
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SN sHRED
I ASAIZOl BHHUS
B9l: DERSASMM ALK SRR
S5
2N -3 - AA(3) - HRAY - BES Ofl &kt a‘&g Hws2
T 32,000
< 14,400
= 33,600
Al 20| S THBIAL (BRI GIAI &) 125,000 222,387 197,387
I 50,000
< 22,500
= 52,500
402 RIZERH=0IF 125,000 222,387 197,387
I 50,000
< 22,500
= 52,500
2 IZRZAE B E (01 F ) 125,000 222,387 197,387
OAI S (I THSEAF (L BHIOI AL, 80. Tha)
125,000,002 125,000
I 50,000
< 22,500
2 52,500
Dighse SN 714,307 588, 231 126,076
= 130,300
< 31,250
= 552,757
=J1E23 714,307 588, 231 126,076
= 130,300
< 31,250
= 552,757
MRS 12,120 12,120 0
201 Yk o] 4,920 4,920 0
01 AFRZ2H] 4,920 4,920 0
OB IZXA 29 3,000,000 3,000
OSZHI(DIHSLLPEZ)  8,00081+3015804) 1,920
202 OfH| 7,200 7,200 0
01 =2LHOIH] 7,200 7,200 0
OIETESISEEESS 200, 0002321+ 122 7,200
AYASABEE 2 53,087 47,251 5,83
101 121 33,107 12,721 20,386
04 JZR2EXS 24 33,107 12,721 20,386
ANASAEEY 2 19,744
IE 73,28024%121x2002 14,656
0F XY 73,2802+ 101%44! 3,225
0=pIi3 17,881,0002%4. 5% 805
oiyREE 17,881,00024+3.495% 625
0BIIQURE2 625, 0002446, 14% 39
InELEE] 17,881,0002%0. % 161
IR 17,881,0002%1.3% 23
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SN SRS
g =Y sdX
SE HEESIPC (Sl &)
% - (5]
SH - B - SI(SIH) - NIRAR - BYS il &bt S HmE=
OLERIF At 13,363
0Jles 73,280 3*321x602 13,191
OMEE = 13,191,000 *1.3% 172
201 LeH=2E| 4,980 4,980 0
01 At2teld| 1,500 1,500 0
O3 UZ0F ASAIERE 23| 1,500,000 1,500
02 2Z=24| 3,480 3,480 0
O3 UIZ0F ASAIERZ Het| 3,000,000& 3,000
OALIEE 2 S4ld| 40,0003+ 128 480
206 =4I 15,000 5,000 10,000
01 =8l 15,000 5,000 10,000
OMSH(LH, s, ==X S)
15,000,000& 15,000
HUEE JIsAIY 275,000 342,160 267,160
401 AlIEHILSOHY] 35,000 302,160 N267,160
01 Al&HI 35,000 300,000 A265,000
OFclM==Xl 2==AlZ ZXIAtY 35,000,000 35,000
402 QI2EXHE0(E 240,000 40,000 200,000
01 QIZEXH2 A S (REXITHE) 240,000 40,000 200,000
OXYEs 25 DFYW0IY SHAIY
50,000, 0002 *2JH 2*+50% 50,000
OLNZE 2EA XZAY
100,000&*5, 0002H*30% 150,000
OdZE0l= SEAIH 2,000,000 *40ha*50% 40,000
Al ESAY 96,000 120,000 24,000
o= 26,000
= 70,000
402 QIZHXHE201A 96,000 120,000 24,000
o= 26,000
= 70,000
02 QIZFRH2 A 22 (01 M THE) 96,000 120,000 A24,000
OL)| =URE =KX JiE AlY
100,000,000 * 17 2-+80% 80,000
o= 20,000
= 60,000
Ot MEd galls AlY
20,000,000 * 1JH2*80% 16,000
o= 6,000
= 10,000
GIOIE] DIgt MARH 25 200,000 0 200,000
= 100,000
= 100,000
402 QIZ2EXHE0(HE 200,000 0 200,000
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2M SgdED
=

Hu: Dleise SLX

[
Q 0lon

o9l Ysdlzea (SH91: &)
% - (5]
SA - HH - S9I(30) - MIRAY - BES Ofl ke S HIDS
= 100,000
z 100,000
02 RIZEXHEAIS 2 (01 HTHE) 200,000 0 200,000
OHIOIE! JIgt MARE 23
200,000,000 * 142 200,000
= 100,000
z 100,000
SI2OHE W 28 HE Jl= A 20,000 0 20,000
= 10,000
z 10,000
402 BlZtAtE0lA 20,000 0 20,000
= 10,000
z 10,000
02 RIZEXHEAIS 2 (01 HTHE) 20,000 0 20,000
O20HE g €S HE Jl= A
20,000,000 * 1042 20,000
= 10,000
z 10,000
dEML: SUSEESS 22 AE 40,000 0 40,000
= 20,000
z 20,000
402 BlZtAtE0lA 40,000 0 40,000
= 20,000
z 20,000
02 RIZEXHEAII 2 (0IHTHE) 40,000 0 40,000
OYETL ZUSHES 23 AY
40,000,000 * 1042 40,000
= 20,000
z 20,000
gols 22 29(0ks, 20 600 1,200 600
= 300
z 300
206 MH=H| 600 1,200 2600
= 300
z 300
01 =8l 600 1,200 2600
Ogolis 2 2(21) 300,000 *2I 2~ 600
= 300
z 300
o= EolE oE X UM AE 17,500 7,500 10,000
& 5,250
z 12,250
202 04l 3,600 7,500 A3,900
& 1,080
z 2,520
01 =LH04HI 3,600 3,500 100
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SN SRS
M Dleise S
G g9slIsEs
2 s S[E
SA - B S(B) - HIRAY - BYS OflAbod agﬁ
ORANNE BHB0E S2=2
20,000&%x180! 3,600
= 1,080
= 2,520
206 M=2H| 3,900 0 3,900
= 1,170
= 2,730
01 JH2HI 3,900 3,900
OJWEZ Holls0E L 2H 3,900,000 3,900
= 1,170
= 2,730
405 KHAFRIEH| 10,000 10,000
= 3,000
= 7,000
01 AL =SZFSHI 10,000 10,000
OXEAIY 2H3t IS 3% IS 7Y
10,000,000 x 14! 10,000
= 3,000
= 7,000
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